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01. What is not the strategic ch0|ce for process type in operations? (A) make or buy (B) flexible or hard automation
(C) project, batch, line, or continuous (D) selected on quality or cost

02. What is not the basic input to the manufacturing planning and control system? (A) process specifications (B)
capital (C) quantities required (D) available facilities

03. What is a wrong description for types of product flows? (A) the line process is suited for flexibility production
(B) the line process is suited to high-volume production (C) the batch process is suited to low-volume products
(D) the disadvantage of a batch process is the jumbled flow.

04. The mean absolute deviation (MAD) for the data given is: (A) 2.2 (B) 3 (C) 11 (D) 15

Periods 1123|415
Forecast 2012013020 | 25
Actual 22 118 | 25|20 | 19
Demand

05. In most cases, the fastest way to increase capacity to meet a short-term requirement is to (A) hire additional
workers (B) subcontract work (C) acquire more equipment (D) use overtime

06. The setup time for an operation is two hours and the run time is 10 minutes per piece. The scheduled operation
time for 100 units is (A) 130 minutes (B) 1,000 minutes (C) 1,100 minutes (D) 1,120 minutes

07. Which of the following types of demands should be input to the master schedule?

|. End-item orders

I1. Service parts

I11. Forecast for end items

(A) T only (B) I and Il only (C) I 'and 111 only (D) I, 11, and 1l

08. Japanese management regards inventory as: (A) the best method of production. (B) an aid in building high
quality. (C) the root of all evil. (D) a buffer against raising costs.

09. Most inventory models are made based on: (A) cost minimization. (B) profit maximization. (C) minimizing
setup times. (D) minimizing lead time.

10. In an MRP system, component demand is: (A) forecasted. (B) established by the master production schedule.
(C) calculated by the MRP system from the master production schedule. (D) ignored.
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0.5min [ 0.4 min

0.2 min 0.7 min 1.2 min

(A) 380 {4 (B) 400 {4 (C) 420 {F (D) 450 %

(D) 55%
£ #EE % FF# (Production Plan)jh| |f£?ﬂ13=1‘ T ETEpguEn (A) EFFF{I f=(product family)(Ftt¥) (B) = =

RPRE(HIN)  (C) A ffiend item)(J11F) (D) fFr {1 0r (SKU)
N5 MPS (Master Production Schedule)pfl%éfﬁ['ﬁ%?{rpe‘? (A) fL— {53 Ellﬁ,gﬂ*ﬁip YEHE (B) s

MRP VAIF[RSHN (C) k- [ 4F#EY CRP puEtE (D) k- [iF ﬁu#ﬁ%ﬁ?ﬁ? RN
PN R 1) S PRSI B R BT 7 S OTEfESEL (A) 101 (B) 103 (C) 105 (D) 100

[ 1] 234576
R 100 | 100 | 100 | 100100 [ 100 | 600
#hEdel | 95 [102[105] 98 [101[103] 604

SIAIUTRIE) 100 [l o & o MO R FREED MPS HeEIFHET T E[fgﬁp &l (projected available) 5 274

IR FIE S £ (A) O (B) 100 (C) 200 (D) 300

% 1] 2374
§1E3E[J 200|200 | 200 | 200
g:E['IEfIFIJ &
£
MPS E! 300 | 300 | 300
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23. 5 A~B~ C VRIS ENN T 100 i (R P=ep e ) 2 fel 2 &% 100 2 P G| B {VFdefal 5 27) 2

(A) 400 (B) 500 (C) 700 (D) 800

24. [§ A~ B CVhiTBIF 7] 100 - 300 - 500 fif (H1F4i2 e ) » #\612% 200 2 P o G (7
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25. MRP i 535 (Action Report) i1 it IFR I HIFRTRI T 129711 2 (A) 2 1 (B) 4 SI(C) 5 1 (D)
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